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In reading or setting the rule, no re-
gard is paid to the position of the deci-
mal point in a number. Thus, whether
we multiply 2.25 x 1.4 or 225 x 14 or
225 x .14, the procedure is the same
and in each case the result is read as
315 (three, one, five not three hundred
fifteen). The position of the decimal
point is determined by inspection, as
we readily see that in the first case
where we multiply 2 and a fraction by
1 and a fraction, the result will be
around 2 so the answer is 3.15; in the
second case we see that 225 x 10 would
result in four figures so we add a cipher
3150; in the last case .225 x .1 would
apprommately be 0225, so setting our
answm' .0315.

: ldilower scales C and D, begin by

ing the left hand 1 as 150 (read
it aslgone, naught, naught) the next di-
vision will be 140 (one, naught, two),
the next 104 and so on to 19s (one, nine,
eight and 2¢0. Proceeding, from 2 to
5, the subdivisions are twentieths;
hence the first division to the right of
2 is %05, the next 210 and so on up to
500. From 5 te the right hand 1, the
divisions are tenths as51q, 520, 530, etc.




g 105, 110, 115, and

so on; from 3 m 6 inmlons are tenths
(%10, 320, 380 ); ﬁ'om(G to right hand 1
(divisions are fifths as, 52, 510, 560, etc.
The ri, WW of A and B are
repetil:ons of the left hand scales and
is read i in thesﬂmmanner

Examphs Mnlhply 16 x 2. Set left
hand 1 of scale C over 140 on Scale D.
Then 1move h,mrf line of runner to 2 on
C, and under ] %_gxadsoo on D. The
position of tﬁe m 1l point is evident;
answer — 32.

gdex falls oﬁ:‘ the rule
figures using op-
1e on either end).
( - 4. Set runner
e 4 on scale C in
] at index read an-

9 on A is opposite 3
posite 4 on D; 225

ings on D.
on D; 16 on




on D and read answer opposite on A,
with decimal properly placed. Thus
to find the square of 8 set runner over
8 on D and opposﬂ:e on A we get the
reading 64.

Square Root: This method is the re-
verse of finding the square, except re-
member for an odd number of digits,
as 225, use left hand half of scale A
and for an even number of digits, as
64, use right scales. To find the square
root of 9 set runner over 9 on left side
of scale A and read 3 on D. To find
the square root of 90, use the 9 on the
right side of A scale, the answer on D
scale is about 9.5.

This slide rule will perform problems
correct to about 1 part in 500 or one-
fifth of one per cent. Constant use will
result in greater speed and accuracy and
many problems can be performed rapid-
ly without mental strain in a fraction
of the time required by usual figuring.




